TOULSEN 110N CORDLESS JIGSAW  20v | 87284

No. | Description Qty | No. Description Qty
1 Saw blade 1 26 Dust catcher cover 1
2 Blade clamp lever ass'y 1 27 Dust catcher 1
3 Reciprocating lever reposition spring 1 28 Tool knob 1
4 Reciprocating lever reset sleeve 1 29 Speed regulating knob spring | 1
5 Top slide guide plate 1 30 Steel ball 43.5 1
6 Decentration shaft sleeve 1 31 lifting adjuster shaft 1
7 Circlip 48 1 32 Screw st3x10 1
8 Wear reducer 1 33 Blow crumbs baffle 1
9 Gear 1 34 Blow crumbs switch 1
10 Balance block 1 35 Holder pin € 4x22 1
1 Knife brace 1 36 Guide wheel supportassembly | 1
12 Needle bearingk081108 2 37 Switch 1
13 Upper slide locating pin ¢ 1 38 Screw 4.2x16 12
14 center support assembly 1 39 Right housing 1
15 Calibration block 1 40 Screw m5 1
16 Bearing 6000-2rsfd 1 41 Washer ¢5.2x12x1 1
17 Rotor 1 42 Spanner 1
18 Bearing 627-2z 1 43 Floor lock block 2
19 Stator 1 44 Base plate 1
20 Steel wire 1 45 Aluminum baseplate 1
21 Left housing 1 46 Bottom reinforcing plate 1
22 Speed control knob 1 47 Screw m4x8 6
23 Controller component 1 48 Bottom plate 1
24 Gummed highland barley paper 1 49 Screw m5%30 1
25 Wokin connector 1




TOULSEN 110N CORDLESS JIGSAW  20v | 87284

SO\ TN

) v \7727:‘ .\\
N\ V)

)
) }\/’




